16-12

A 4 x 10 rectangular Southern pine section is used in a 10-ft cantilever span. Compute the deflections at the quarter
points due to a uniform load of 300 Ib/ft.

Solution. - 300 Ib/}+
o R o
Al Ll LVl
/ B
A
L=10 4
Table A-bla) |
dimxiowm I =231 m" ET =180 ks (231 ")
o
Toble A-7/(a) = Y45 300 kg in
Sovthern Pine E= /200 k5¢: L= ;o;.p(’% = 120 w»n.
- O\ [ e\ o
W= 300 \bfy, (2 (;aa,.b)* 0-02s kef\,
Toble l6-1, case 3
™
o= G2 (1‘-- Yrx + 6L%)  (Oetlection Eguation)
24 ET

Cﬂ’Cuque' o(ovf— He @um-ﬁm Poirts :

of {'m)

I in)

30
60
q0

120

0.025 ?f(s’On'a)z ((30.3—4/:20:’0(30.‘@ + G(IZOM)Lj: DALY in
"

24 (415 800 kip-m™)
0-025 K¢ (¢oin)™ ((éow—"— #1izon) ( 601n) + 6('20'“)2') = 0-552 in:

4,979 200 kip m™
0'02‘55_2 (QO!h)z' ( (‘lOm\z"' ‘-f(lZOlh)(GfOIh) 4'6([201-\)1) = I-O"H I'n.

1"

9,279 200 kipt1n®

0.025 K (no.;,lz- (me\?’-— Y (120m) (rzom) +'é(| 20m)"'> = .56
I

R
—n

y
4979 200 Kip-m® wt? - ?_;_?_"_f__(_’_zﬂ-— = 56

Imax = gET g (H15300) —



